Yy . - o e e i N ST e
P T £ K s 3 gl s e *E _"-' - - =3 . —

2002-2005 DODGE 1/2 REPLACEMENT

INSTALLATION KIT

WRAE LIC. PLATE
4 - 172 X 5™ BOLT 2 - 1/4 X 3/4" BOLT
4 =127 NOT 21 A8 TNUT
4 - 1/2" LOCK WASHER 2 - 1/4" LOCK WASHER
8 - 1/2" FLAT WASHER 2 - 1/4"™ FLAT WASHER

STEP 1: Remove factory bumper.

CATTLEMAN INSTALLATION SHEET

L

PART # 2230

STEP 2: Place front end replacement bumper on the outside of the

frame as shown.

STEP 3: Remove the lights with bracket

to the replacement tabs and

place plastic caps on the light hole. Use the same bolts.

If bumper does not have lights,
the hole.

place the plastic caps on

STEP 4: Check alignment on the replacement bumper and tighten

bolts.

REPLACEMENT MOUNT

UBRIGHT
4‘

d

TOP DECK

HORN MOUNT

REPLACEMENT
HORN



